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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : SPSS-T-XHI

T
Seia N L

est Booklet Series

TEST BOOKLET
ELEMENTARY MATHEMATICS

Time Allowed : Two Hours Maximum Marks : 100

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheet liable for rejection.

You have to enter your Roll Number on the

Test Booklet in the Box provided alongside.

DQ NOT write anything else on the Test Booklet.

This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to mark
on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to
take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

1) There are four alternatives for the answer to every question. For each question for which a wrong answer

has been given by the candidate, one-third of the marks assigned to that question will be deducted as
penalty.

(ii)  If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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1. 574518, 519,520 g divisible by 5.
(a) 17
(b) 9
(0 11
(d 13
2. If a + b = 2¢, then what is the value of
a c
+ ?
a-c b-c
6.
(@ -1
(b) O
@ 1
d 2
3. Ifx=yl2 y=,lb and z = xV¢ where x # 1,
y# 1, z#1, then what is the value of abc ? 7
(a -1
(b) 1
() 0
d 3
4, If 2b =a+c and y? = xz, then what is 8.
xP-Cy—aza-b goyal to?
(a) 3
(b) 2
(e) 1
d -1
SPSS-T-XHI (2-A)

Which one of the following is correct ?

(a) Decimal expansion of a rational number
is terminating.

(b) Decimal expansion of a rational number
is non-terminating.

(¢) Decimal expansion of an irrational

number is terminating.

(d) Decimal expansion of- an irrational
number is = non-terminating and
non-repeating.

If the roots of the equation px? + x + r = 0 are
reciprocal to each other, then which one of the

following is correct ?

(a) p=2r
(b) p=r

¥  2p=r
(d p=4r

If 65x — 33y = 97 and 33x — 65y = 1, then
what is xy equal to ?

(a) 2
(b) 3
(o =2
d -3

If E+E=1 and S+§=1, then what is
Al z a
ab + xy

equal to ?
{
(a 1
(b) 2
¢ 0
@ -1
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517 + 518 4 519 4 520 foped fawrsw 2 2 5.
(a 7
(b) 9
@ 11
@ 13
e a+b=2c8, a -2 ¢ &1 HE ==
a-c b-c
3? 6.
@ -1
(b) O
() 1
@ 2
e x = y2, y =2 3 z = xV° T x = 1, |7,
y#1, z#1 8, @ abc o TH FT 8 ?
(a) -1
(b) 1
() O
d 3
AR 2b=a+c M y2=xz &, A Sf
xP-cyc—a,a-b forme SR 8 ? '
(a) 3
(b)y 2
© 1
@ -1
(3-A)

e § @ sH-a1 98 2 2

(a) UNEYT & &1 9HAd JHR Ed BidT & |

(b) UNHT TE&FT 1 SIHAd JER SHIE Brar
2

(c) IUNHT F&AT & <HAd JER Tid &l

2

AUNHT FEI H HAT TER HAIE]

3t Tadt BT © |

(d)

afg T px® + x + 1= 0% A THGR &
=Joshd B, 1 Fefrfed & @ - @&l 7 2

(a) p=2r
(b) p=r

(¢ 2p=r
(d p=4r

Ife 65x — 33y = 97 3N 33x — 65y =1 ®, @I
xy Toreeh SUsT 8 2

(a) 2

(b) 3

€ =2

(d -3

aﬁ B+E=1 &t 2421 %, ar BD -+ By

- z a bx

foperh sTe R 2

(a) 1

(b) 2

() 0

d =1
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9. Sif aza— L 5, then what is the value of 1.
adi— 0
ao
(a) 125
(b) -—125
() 140
(d —140
10. If x+y+z=0, then whatis
F+z-x3+@z+x-y)® + (x+y-2)° equal 14
to ?
(@) E+y+12)?°
(b) 83&+y)(y+2)(z+x)
(e) 24xyz
(d) -24xyz
11. If (x + 3) is a factor of x° + 3x2 + 4x + k, then
what is the value of k ?
(a) 12
(b) 24 15.
(c) 36
(d). 72
12. The smallest integer with 4 digits which is a
perfect square is
(a) 1000
(b) 1024
() 1089
(d) None of the above
SPSS-T-XHI (4-A)

Which one of the following is a zero of the
polynomial 3x3 + 4x2—7 ?

(@ o
(b) 1
() 2
d -1

There are two numbers which are greater
than 21 and their LCM and HCF are 3003 and
21 respectively. What is the sum of these

numbers ?
(a) 504
(b) 508
(c) 514
(d 528

If o and B are the roots of the equation
ax? +bx + ¢ = 0, then what is the value of the

expression (o + 1) (B +1)?

a+b+ec
a

(a)

b+c—a
a

(b)

a—-b+c

(c)

@ a+b-c
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10.

11.

12.
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Download More Papers From GovtJobsAlert.In

a2 a® -1

a3

R ‘1=5%’,?ﬁ

a

ST HHE T 8 ?

(a) 125

(b) —125
(¢) 140

(d -140

!Tfé Xx+y+z=0 %,?ﬁ
Y+z-xP+@z+x-yP +x+y-12)°
fopereh sTe ® 2

(a)
(b)
(c)
(d)

(x+y+z)3
3x+y)(y+2) (z+x)
24xyz

— 24xyz

Ife (x + 3), x3 + 3x2 + 4x + k F Th HEE 3,
a kT HH T8 2

(a) 12
(b)y 24
(c) 36

(d 72

4 31 HT GEE DIl I S TH O v off B,

fafafea 4 a AT 2 2
(a) 1000
(b) 1024

(¢) 1089

@ I9IE F @ B TG

13.

14.

15.

(5-A)

TEUE 3x3 + 4x% — 7 1 YIH, (HAfGRGd H °
HHATR ? '

(a) 0
b 1
(¢) 2

d -1

Wt @ gEEd g S 219 W€l @ 3 I LCM
3R _HCF 99: 3003 31T 218 | 39 G 1

T T R ?
(a) 504
(b) 508
() 514

(d) 528

aﬁaSﬁTBHTﬁWax2+bx+c=0a5%§,

Al AP (o + 1) (B + 1) T TH T g 2

a+b+ec
a

(a)

b+c—a

(b)

© a—-b+c

@ a+b-c
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16. The remainder when 3x® + kx? + 5x — 6 is|20.
divided by (x + 1) is — 7. What is the value of
k?
(a) -14
(b) 14
) =17
@ 7
’ 21.
17. 1If f(x) and g(x) are polynomials of degree p
and q respectively, then the degree of
{flx) £ g(x)} (if it is non-zero) is
(a) Greater than min(p, q)
(b) Greater than max(p, q)
(¢) Less than or equal to max(p, q)
(d) Equal to min(p, q)
: V5 -3 J5+43
18. What is the value of - ?
V5+J3 J5-43 &
(@ -2415
(b) 2415
() 415
d -15
19. What is the value of
1 L 1 4
1+xP-2 1 x¢-2 1 xa-b ye-b
1
1+ x2-¢ L xb-c
wherex #0 ? 23.
(a) -1
) 0
) 1
d 3
SPSS-T-XHI (6-A)

The sum of a number and its square-is 20.

Then the number is

(a) -5or4
(b) 2o0r3

() —5only
(d 5or-4

If the price of wheat rises by 25%, then by how
much percent must a man reduce his
consumption in order to keep his budget the

same as before ?

(a)  15%

(b) 20%

(c) . 25%

d) 30%
1

T of the students who registered did mnot

appear for the examination, —é% of those who

appeared passed. If the number of registered

students is 2000, the number who passed is

(a) 1920
(b) 1056
() 1020
(d) 864

What is the difference between 0-9 and 0-9 ?

(@ 0

(b) 0-:099
(e)- - 01
(d 009
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16. Tﬂa3x3+kx2+5x—6ﬁ(x+1)@‘:ﬂﬂ%€ﬂ

JA A —7UT SEAT g | khl HH 18 ?

(a) -14
(b)
(c)

d 7

14
-7

17.

T (fix) + g(x)) (I T8 I B) i feaft B
(a) min(p, q) & I

(b) max(p, q) g w<l
(¢) max(p, q) e ST AT 35H HH
(d) min(p, q) % TR

-3 _JB+43
N R

18. S HE T8 ?

(a) -2415

b) 2415
(e) J15

(d)

19. + i+

ﬁﬂx)ﬁg(x)m:@pﬁt q%a@aﬁ,

&l x = 08, T T R 8 ?
(a)
(b) 0
() 1

(d 3

SPSS-T-XHI
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21.

22.

23.

20. TUeh GBI 30 Ik a1 1 INTHA 20 2 | a1 98

HE

(a) —-53AYAT4
(b)
(c)
(d)

2 T 3
Had - 5

5 AYAT - 4

afg 7 1 7o (W) 25% T 7, d UH ARG
# A9 Suunr # fohad ufgwa & st e
1T, qTfeh 3T SIole Ugel ST & o1 8 2

(a)
(b)
()
(d)

15%
20%
25%

30%

Tofipa B % % wlien & foe sufer @
§Y, S e g I ;—(1) Il gu | Al
Usfihd BT S T 2000 B, @ ST BH A
Bl 6 T Rt § 2

(a)
(b)

(c)
(d)

1920
1056
1020
864

0-9 31T 0-9% offg =1 W B 2

(@ 0

(b) 0-099
() 01
(d 0-09
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24.

25.

26.

27.

(a) 300
(b) 400
(¢) 500
(d 600
SPSS-T-XHI (e
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IfA%B=1::2:B: C=38:4, C:D= 2:'3
and D:E=3:4, then whatis B : E equal to ?
(a) %2

(b)
(c)
(d)

AW =

8
8
1

A work when done by 10 women is completed
in 12 days. The same work can be completed
in 8 days when done by 5 men. How many
days will it take to complete when 6 women
and 3 men are employed to perform the same
job ?

(a) 12

(b) 10

(c) 8

d 5

A man undertakes to do a certain work in
150 days. He employs 200 men. He finds that
only a quarter of the work is done in 50 days.
How many additional men should he employ

so that the whole work is finished in time ?

(a) 175

- (b) 85

(¢) 100
(d) 120

A train moving with a speed of 60 km per hour
crosses an electric pole in 30 seconds. What is

the length of the train in metres ?

28.

29.

30.

A)

T 120 is distributed among A, B and C so that
A’s share is T 20 more than B’s and ¥ 20 less
than C’s. What is B’s share ?

(a) <10
(b) T 15
() T'20
d <T25

In the following table of inverse variation,
what are the values of A, B and C

respectively ?

M 15 -6 2 C
N -4 A B 60
(a) 10,-30,-1
(b) 10,-1,30

(¢ -30,10,-1

(d -1,-30,10

A person borrowed ¥ 5,000 at 5% rate of
interest per annum and immediately lent it at
5:5%. After two years he collected the amount
and settled his loan. What is the amount

gained by him in this transaction ?

(@)-' . 25
(b) T 50
(e) T 100
(d <200
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24, A A:B=1:2 B:C=3:4 C:D=2:3
M D:E=3:48, @ B: E forash st 8 ?
(@ 3:2
(b) 1:8
(¢) 3:8
(d 4:1

25. U M I 39 103Md WA g ar g8 12fe &
qU B I | 3E B T 5 IMeH A 7
a8 8 feq # o & Sar ' | 3t R W wA
¥ fou 5 6 o 3fit 3 amedt we S €, |29
38 QU BN ¥ feran T i 2
(a) 12
() 10
(e 8
@ 5

26. T oAt forelt w1 @l 150 fAt & qU w0 &
ISR AdT 8 | 98 200 e e &
2 | 30 var wwar ® 6 50 et A 3@ e
Fad THEAAE G @ A IR 2 | I fhed
fafer et o =nfed, fe@ 6 a8 Q@
HE @0 ¥ Ged & AT ?
(@) 175
(b) 85 30.
(¢) 100
@ 120

27. 60 km Ufd w2 it Tfd & =@ g Th WS
U fagd @ #I 30 FHUs H IR W A B
et i oS, et # @ R 2
(a) 300
(b) 400
(¢c) 500
d 600

SPSS-T-XHI (9-A)

‘ Download More Papers From GovtJobsAlert.In

28. A,B3IN CH T 12039 ISR &1 od & % A

T Y B W ° T 20 31Uk g 3 C &+ 3

YT 20FI2 | BH AT ?
(a) T10
(b) T 15
(© T20

d <T25

epr oo it Fr=fafaa amoft 4, A, B ok
C % ShHYT: HH &1 & ?

15 -6 2 C
N -4 A B 60
(a) 10,-30,-1
(b) 10,-1,30
(¢) -30,10,-1
(d -1,-30,10

Teh ofth 9 5% 9fd a9 6l =9 @ W T 5,000
3yR fou 3 @ & 55% Hi T W IR ¢
few | € 9 e IEE WH aE ot R 3AT
W9l g1 o1 | 3@ T | 39 foralt ety
=T A g 2

(a) T25
(b) T50

() T 100

(d) ¥ 200
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31. At present the average of the ages of a father | 35.
and a son is 25 years. After seven years the
son will be 17 years old. What will be the age
of the father after 10 years ?

(a) 44 years
(b) 45 years
(¢) 50 years
(d) 52years
36.

32. If 5 tractors can plough 5 hectares of land in
5 days, then what is the number of tractors
required to plough 100 hectares in 50 days ?

(a) 100
(b) 20
() 10
d 5
317.

33. A merchant commences with a certain capital
and gains annually at the rate of 25%. At the
end of 3 years he has ¥ 10,000. What is the
original amount that the merchant invested ?

(a) ¥ 5,120
(b) ¥ 5,210
(e) ¥5,350
(d) ¥ 5,500
38.
34. Which one of the following decimal numbers is
' a rational number with denominator 37 ?
(a) 0:459459459 . ..
(b)  0-459459459
(¢) 00459459459 . ..
(d) 0-00459459. ..
SPSS-T-XHI (10-A)
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The annual income of a person decreases by
T 64 if the annual rate of interest decreases
from 4% to 3:75%. What is his original annual

income ?

(a) ¥ 24,000
(b) T 25,000
() ¥ 25,600
(d) < 24,600

For 0 < m < 1, which one of the following is
correct ?

(a) ¥

1

logigm<m®<m<m”

-1 2
(b) m<m™ <m“<log,,;m
() log;ym<m< m! < m?
(d) log;,m< m! <m < m?

A gentleman left a sum of T 39,000 to be
distributed after his death among his widow,
five sons and four daughters. If each son
receives 3 times as much as a daughter
receives, and each daughter receives twice as
much as their mother receives, then what is
the widow’s share ?

(a) ¥ 1,000
(b) ¥ 1,200
(e) ¥ 1,500
(d) None of the above

Three numbers which are co-prime to each
other, are such that the product of the first
two is 286 and that of the last two is 770.
What is the sum of the three numbers ?

(a) 85
(b) 80
() 175
(d 70
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31, aauH H wh far it qF # g w1 ofEd
2594 8 | 9@ 99 &g YA 17 99 1 B ST |
10 5§ =7e foar Y o1y @ Bt 2
(a) 449
(b) 4594
() 509
@ 5299

32. IfE 53R, 5eFH M H 5T & Fiad &, @
100 ¥ 1 50 At & Fav & foaw fopem
F hl AR BT 2
(a) 100
(b) 20
(o). 10
@ 5

33. T A U FfvEd $oft @ yeea s g i
25% H W ¥ I N U Hal B |
3ad % 37 § IGh U@ T 10,000 B & |
ST % R @IS T8 SRR T 1 R 2
(a) 5,120
(b) 5,210
(¢ ¥5,350
d 5,500

34. Frafefed qemere gest # @ a8 gfdg @@
i-Ht 8 o g 3778 2
(a) 0-459459459 . . .
(b)  0-459459459
(©  0-0459459459 . . .
(d)  0-00459459 . ..

SPSS-T-XHI

35.

36.

37.

38.

&Y

Ife aiffes =A@ 4% © =EH 3-75% &l STl
2, d U oafth hl dIf¥eh I T 64 = T
2 | U A anfiieh T T B 2

(a) ¥ 24,000
(b) ¥ 25,000
(¢) ¥ 25,600
(d) T 24,600

0 <m < 1% fou, f=fafgs d @ =9 g
22
(a)
(b)

2 1

log;,m<m“<m<m”

1

m<m~ <m2<logmm

1 2

() logjpm<m<m™ <m

(d) 1 2

logjym<m™ <m<m

UF =i 4 T 39,000 i gy wig, @
IGeh! g o UvETd ITeh! fawan, uie gAi ok
IR g # e ST ® | Al ye@s gF o gt
% o8 &1 3 T T 7, o wew TRt @
I7h! A % o8 1 g e @, a@ fawan @
e g 2

(a) ¥ 1,000
(b) ¥ 1,200
(c) T 1,500
(d) 9 A F HIg TE

T T S Uh-gE @ ITHENTST 7, 39 THR
2 5 wgehl @ 1 R 286 IR Sifaw @ W
TORBA 770 ¥ | dHT GES 1 AMhA w0
72

(a) 85
(b) 80
(e 175
(d 70
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39. The age of a woman is a two-digit integer. On | 42.
reversing this integer, the new integer is the
age of her husband who is elder to her. The
difference between their ages is one-eleventh
of their sum. What is the difference between
their ages ?
(a) 8years
(b) 9years
(¢) 10 years
(d) 11 years
43.
40. A passenger train and a goods train are
running in the same direction on parallel
railway tracks. If the passenger train now
takes three times as long to pass the goods
train, as when they are running in opposite
directions, then what is the ratio of the speed
of the passenger train to that of the goods
train ? 44.
(Assume that the trains run at uniform speeds)
(a)y 2:41
(b) 3:2
(¢) 4:3
d 1:1
45,
41. All odd prime numbers upto 110 are
multiplied together. What is the unit digit in
this product ?
(a) 0
(b)) 3
() 5
(d) None of the above
SPSS-T-XHI (12-A)
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An alloy A contains two elements, copper and
tin in the ratio of 2 : 3, whereas an alloy B
contains the same elements in the ratio of
3 : 4. If 20 kg of alloy A, 28 kg of alloy B and
some more pure copper are mixed to form a
third alloy C which now contains copper and
tin in the ratio of 6 : 7, then what is the
quantity of pure copper mixed in the alloy C ?

(a) 3kg
(b) 4kg
() 5kg
d 7kg

A quadratic polynomial ax? + bx + c¢ is such
that when it is divided by %, (x — 1) and (x + 1),
the remainders are 3, 6 and 4 respectively.

What is the value of (a + b) ?
(a) 3

(b) 2

@ 1

@ -1

If the average of 9 consecutive positive
integers is 55, then what is the largest
integer ?

(a) 57
(b) 58
() 59
(d 60

The average of the ages of 15 students in a
class is 19 years. When 5 new students are
admitted to the class, the average age of the
class becomes 185 years. What is the average
age of the 5 newly admitted students ?

(a) 17 years
(b) 175 years
(¢) 18 years
(d) 185 years
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39. U Higel i MY T 3Tehi 1 TH qUII 2 | 39 | 42.
qUifeh & el I TIM oA oF T, FAT IR
g% ufd, 1 & 3@ o8 &, it g &7 Smar
2 | TR AP HT A, IThI Y & ANTHA
RgaT 5T B | S 1Y I T F=T R ?

(a) 89
(b) 9ad
(¢ 1099
@ 1199

40. TH I M SN Th weE uw & fawm i |48
AT Yo WS @ 2 | 3fe 3 ool fen
ST @ Bl gar M), Al W 9 B §
S GE Adt, ST A AT g9T 98 IE At
2199 ¥ gue R § o @@ #, @ ward e
1 71 1 ATeTTE i T A ST FT R 2
(v <fifre {6 mifsal whamm i @ erdt §)

(a) 2:1 44.
b)) 3:2
(¢) 4:3
d 1:1

41. 110%@@1#%@31%11@1@?@(@45
Ty Ton R ST R | 36 UGS | g1 I
3k T 82
(a) O
(b) 3
(¢ 5
@ 399§ G H1S TE

SPSS-T-XHI (13-A)
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foreht fagurg AR @ q a3k A 2:3%
s § §, Safe foreht o famerg B & @
TE3:4% AIIGH B | Al 20 kg Fazeamg A,
28 kg fisrang B, aen 3@ Mt il yg afe
firerert ©h el fasreg ¢ w9 T R, R
dfem R &9 6: 7% U ® &, o fazarg c A
firemme U 31 afel Y 7T R 2

(a) 3kg

(b) 4kg

(0 5kg

(d Tkg

e RET 9ETE ax? + bx + ¢ 39 YHR 2 i 5
W x, (x—1) M (x+ 1) @ fowrfoa foren s 2,
T ATH HAIM: 3,6 A 4 WA & | (a+b) Hl
T T 81T 2

(a) 3

b 2

e 1

@ -1

Ife 9 SHATTA HTcHS qUIeh ol 3 &d 55 7, o
TeE §gT UTTeh T B 2

(a) 57

(b) 58

() 59

d 60

. Ush el % 15 DT hi Y T 37d 1999 2 |

& FET § 5 AU SE B YAW & @ ?, @
HefT 1 N|d 1Y 185 I¥ & Wt 7§ | uferse
§U 5 7C BT 6 A g F1R 2

(@) 1794

(b) 17-5a

(c) 18499

(d 1854
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46.
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A:man can row at a speed of x km/hr in still

water. If in a stream which is flowing at a
speed of y km/hr it takes him z hours to row to
a place and back, then what is the distance
between the two places ?
2 2
@) z(x“ —-y“)
2y
2 2
z(x“—-y“)
b e
(b) o
2 _ 2
(0 g =y
2zx
2 2
@ 2 x* —y*)
x
47. A water tank has been fitted with two taps P
and Q and a drain pipe R. Taps P and Q fill at
the rate of 12 litres per minute and 10 litres
per minute respectively.

Consider the following statements S1, S2 and

S3 :

S1: Pipe R drains out at the rate of 6 litres
per minute.

S2:  If both the taps and the drain pipe are
opened simultaneously, then the tank is
filled in 5 hours 45 minutes.

S3: Pipe R drains out (fully) the filled tank
in 15 hours 20 minutes.

To know what is the capacity of the tank,

which one of the following is correct ?

(a)  S2is only sufficient

(b) S1, S2 and S3 are necessary

(¢) Any two out of S1, S2 and S3 are

sufficient

(d) None of the above

SPSS-T-XHI

48.

49.

(14-A)

A car has an average speed of 60 km per hour
while going from Delhi to Agra and has an
average speed of y km per hour while
returning to Delhi from Agra (by travelling
the same distance). If the average speed of the

car for the whole journey is 48 km per hour,

then what is the value of y ?

(a) 30 km per hour

(b) 35 km per hour

(¢) 40 km per hour

(d) 45 km per hour

An article is sold at a profit of 32%. If the cost
price is increased by 20% and the sale price

remains the same, then the profit percentage

becomes

(a) 10%
(b) 12%
() 15%
(d 20%
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46. TH ANk 3§ §C IHI | x fopet /e i =1 4

47.

yrft/faanHinfc g @ R, § & wE |
et g TUW % 9@ § 9 3R a9 AW
(chted) ¥ 36 =afts &l z 9 @4 8, @ QM

wHiFfa R w2
@ = x2 - y2)
N
2 (x2 —y2)
(b) o
(x2 - yz)
(e) 2zx
@ &y

X

gt il TH TR H I I P AR Q AR TH
T et R fhe 1 1€ 8 | 79 P 3t Q U
1 Tl I HAET: 12 A gfd e 3t 10 X

wfd e H A wd § |

3a gy § ffafed st S1, S2 3 S3 W

forem <hifSe

S1: 9t R, 6 ofleX ufg e i = & url
Freepriera et 8 1

S2: afe gFl Tt 3R e el w T Gy
e e S 8, @ 5 5 45 fime ° T
oS R |

S3: Feft R Wil 8% < W1 15 69 20 e § g
TE U el e R |

Th A gmar SR % fou, FEfafea 4 @

HI-91 TE B ?

(a) had S2 & waa B

(b) S1,S2 3 S3 AETIF &

(¢) S1,823M S3H & g off g quiea &

(d) 394§ ¥ IS TR

48. feoch @ s SM arelt Wk wR I Ea i

49.

SPSS-T-XHI
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(15-A)

60 forift wfa =er B 3R o @ fioeft amum
A gAY U IftEa nifd y fedt wfa ser R
(T gt @@ F H) | A wyol Aen 7 R A
3fted i 48 foprdt 9 wer &, d y 1 7
27

(a) 30 Temrft ufa =
(b) 35 Tt ufa =
(¢) 40 Tt gfa ==

@ 45 TordY ufaq =

T T HI 32% AT T = @ 7 | G A
T 20% &6 a1 8§ 3R fosha ge a8t & 2,

at Ty Y wforaar ferat & STl @ 2
(a) 10%
(b) 12%
(0 15%
d 20%



50. A, B, C, D and E start a partnership firm. |52.
Capital contributed by A is three times that
contributed by D. E contributes half of A’s
contribution, B contributes one-third of E’s
contribution and C contributes two-third of A’s
contribution. If the difference between the
combined shares of A, D and E and the
combined shares of B and C in the total profit
of the firm is ¥ 13,500, what is the combined
share of B, C and E ? (The shares are
supposed to be proportional to the
contributions)

(a) ¥ 13,500 153.
(b) ¥ 18,000
(¢) T 19,750
(d) ¥ 20,250
51. A Pie Chart is drawn for the following data :
Sector Percentage
Agriculture and Rural
12-9
Development
Irrigation 12-5
Energy 27-2
Industry and Minerals 15-4
Transport and
C SHE 159
ommunication 54.
Social Services 16-1
What is the angle (approximately) subtended
by the Social Services Sector at the centre of
the circle ?
(a) 45°
(b) 46°
(c) 58
(d) 98°
SPSS-T-XHI (16 -A)
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The

The arithmetic mean of two numbers is 10 and

their geometric mean is 8. What are the two

numbers ?
(a) 15,5
(b) 12,8
(¢) 16,4
(d 18,2

The arithmetic mean of 11 observations is 11.

arithmetic mean of the first 6
observations is 10:5 and the arithmetic mean
of the last 6 observations is 11-5. What is the

sixth observation ?

(a) 100
(b) 105
(ey 110
(d 115

What is sin® 6 — cos* 6 equal to for any real

number 6 ?

(a) 1

(b)  1-2sin®6
() 2cos?6+1

(d 1-2cos?0
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50. A, B, C, D 3iR E U ARGl B4 & & 8 |
A G TS T YSfl, DGR @g 8 gaht Sl ofH
T R | E S SWCH, A IVGH HT T B,
B 1 319CH, E & 3IWEH o1 Th-agis 8, 3R
C 1 3EH, A % IFWEH I q-fders 7 | 3
% % o @ H, A, D 3R E % G TR
9T B 3R C & TgFa g #1 3’ T 13,500
?, @ B, C 3R E &1 agad feemn fobaan 8 2
(feedt, STwreHl < FWHIE § 7 W1 ¥)
(a) ¥ 13,500
(b) ¥ 18,000
() 19,750
d 20,250

51. Ffafea fesi & fou gon@ (W =©)
ST TR

&7 ylaerer

F 3R o7 femme 12-9
&= 12:5
el 27-2
ECIUEC IECIEE 154
gftgga 2R F9R 15-9
qrTorR AT 161
e Harell % o9 @ (89) g 9 % Hg
forg W aiafta@ wor (emw) foham 2 2
(a) 45°
(b) 46°
(© 58
(dS 98°

SPSS-T-XHI

52. T HEATSA 1 THIGL HILT 10 7 3 I U

53.

54.

(17-A)

oeT 83 | ST T HiH-H § 2

(a) 15,5

(b) 12,8

(¢) 16,4

(d 18,2

11 J&F0T ST THIR H1ET 11 7 | IR (98d)
6 J&IUT hT THIG HIET 10-5 7 31 3faq 6 Yo
T THICE H1ET 1158 | DT Y& =7 8 2

(a) 10:0
(b) 105
() 110
(d 115

ferelt areafass = 0 & f%‘l'Q sin®0® — cos*0
foraesh s 8 2

(a) 1

(b) 1-2sin%6
() 2cos?6+1
(d 1-2cos?0
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55. What is cot 1° cot 23° cot 45° cot 67° cot 89°|58. Each side of a square subtends an angle of 60°

equal to ? at the tip of a tower of height h metres
standing at the centre of the square. If [ is the
8 0 length of each side of the square, then what'is
(b) 1 h2 equal to ?
g (a) 202
(e "=
2 l2
b bl
1 (b) 2
(d) 5 32
© —A
2
212
d £
(d) 3

56. What angle does the hour hand. of a clock
describe in 10 minutes of time ?

59. From a height of h units, a man observes the

(@) 12 angle of elevation as a and angle of depression
®b) 5° as B of the top and the bottom respectively of

a tower of height H (> 4h). To what further
€) . 162 height should he climb so that the values of
@ 100 angle of elevation and angle of depression get

interchanged for the top and bottom of the

tower ?

(a) H-h units

57. Consider the following statements : () H- 2h units

1. (sec?6-1)(1—cosec?6) =1 @) " H 2 5hunits
2. sinB(1+cos B+ (1+cos0)(sinB) 1= (d) H - 4h units
2 cosec O
Which of the above is/are correct ? 60. If secxcosecx =2, then what is
tan™ x + cot™ x equal to ?
(a) 1only
(a) 2
(b) 2 Only (b) 2n+1
(C) BOth 1 and 2 (C) 2n
(d) Neither 1 nor 2 @ o1
SPSS-T-XHI (18-A)
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cot 1° cot 23° cot 45° cot 67° cot 89° TohEeh
TR 2

(@ 0

b 1

(c)

DO | =

(d)

o | =

et ut i we H gE, T F 10 e #,
fore feaft =1 whror STt 2 2

(a) 1°

(b) 5°

(@ " 8°

(d 10°

fafafga st w faem Hifse .
1. (sec2B—1)(1-cosec?0) =1

2. sin®(1+cos® 1+ (1+cos0)(sin0)!=

2 cosec O

I9ad § ¥ SH-A1/4 H98l 8/3?
*ad 1

(b) HadA 2

(© 13K 23Hi

Td a2

(a)

(d)

58. Toret @t it I g, 3| 9 & g W o

59.

60.

(19-A)

h #iX it F=18 A T TR F ¥ (RR) =
60° T IV FaRka Lt 8 | I a7 A I
o Y TS 7 R, A h? foheeh st R 2

(a) 212

(b)
() —

(d)

h 3% $ SO ¥ T AGd @@ & %
H (> 4h) 39 9rct Th 26 & I 3 A
UM IAAT DIV o 3R FETHT HIT BB | A
3 3R foram S=n =@ =nfee, arfeh 2R &
oS i 7t I PO ST S B B
WA FHdeed &l Y ?

(a)
(b)
(¢) H-3h units
G))

H - h units

H — 2h units

H — 4h units

afd  sec x cosec x = 2 %, @ tanx + cotx

foreesr s B 2

(a) 2
(b) 2n+l
() 2°
@ 2t
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61. If cosx+cos’x= 1, then what is 65.
sin?x + sin x equal to ?
(a 1
(b) 15
() 2
d 3
62. Ifsin A + cos A =p and sin® A + cos® A = q,
then which one of the following is correct ?
(@ p°-3p+q=0 66.
() q®>-3q+2p =0
(0 p3-3p+2q=0
(d p3+3p+2q=0
2 —
63. If x= £EG0 — tanb , then which one of the
sec? 0 + tan®
following is correct ?
1
- <3
g 67.
1
(b) ¢ |=,3
- [3 ]
1
-3 Ess
(c) <xX< 3
1
d — <x<3
(d) T
64. ABC is a right angled triangle with base BC
and height AB. The hypotenuse AC is four
times the length of the perpendicular drawn to
it from the opposite vertex. What is tan C|68.
equal to ?
(a) 2-+3
by +3-1
© 2+43
@ J3+1
SPSS-T-XHI (20-A)
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ABC is a triangle right angled at C with
BC = a and AC = b. If p is the length of the
perpendicular from C on AB, then which one

of the following is correct ?
(a) a?b%=p?(a%+b?
®) a2b?=p2(®H2-a2d)
(¢ 2a%2b%=p?(a+0b?d)
d) a?b%=2p%(@a®+b?

The radius and slant height of a right circular
cone are 5 cm and 13 cm respectively. What is

the volume of the cone ?
(a) 1007 cm?

(b)  50m cm®

(¢) 65m cm®

(d 1697 cm3

Two equal circular regions of greatest possible
area are cut off from a given circular sheet of
area A. What is the remaining area of the
sheet ?

(a) A/2
(b) A/3
() 3A/5
d 2A/5

If the ratio of the radius of the base of a right
circular cone to its slant height is 1 : 3, what is
the ratio of the total surface area to the curved

surface area ?

(a) 5:3
(b) 3:1
() 4:1
(d 4:3
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61. 'qﬁ cos X + cos? x = 1%, al sin? x + sin? x|65.
fopEeh ST B 2
(a) 1
(b) 15
(¢) 2
d 3
62. 2TﬁsinA+cosA=p\?"-laf‘isin3A+cos3A=q‘%,
dt Fefafea A @ PRar wd 2 2
(a) p3-3p+q=0 66.
b q®>-3q+2p =0
(0 p>-3p+2q=0
d p3+3p+2q=0
secZ @ —tan 0 ¢
63. qﬁX=2———%,?ﬁﬁmﬂa
sec” 0+ tan 0
91 TE ® ?
1
(a) §<x<3 67,
1
(b) XE[E,E{I
1
(e) —3<x<—§
(d) %3xs3
64. ABC T queivl 3y 3 5@ s BC 3R
FAE AB ® | 91 AC Y s, Ty W |
3 W df" T o i evrs h TR T R 1|68,
tan C fopteh ST B 2
(@ 2-43
(b) J3-1
e 2+43
@ 3+1
SPSS-T-XHI (21-A)
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ABC T fys & St ¢ W @e=hivfim B, @t
BC=a3M AC=b? | I CH AB W T IH
g @ Hl o p B, @ F=fafea & @
FHET S B ? ‘
(a) a2b?=p?(a®+b?
(b) a?b?=p?((b%-a?)
(¢) 2a%b%=p?(a®+b?
(d) a?b?=2p?(a+b?

freht g g A fren o e e
A 5cm 3 13 em B | WP I ARAA fohaa
2?

(a) 1007 cm®

(b)  50m cm3

(¢ 65mcm?

(d 16971 cm?®

A el aTell IR T e (Fed W)
TG B $ q UK I & HIE I & |

TTeT T AT ST FIT & ?
(a) A/2

(b) A/3

(0 3A/5

(d 2A/5

Ife wh we-gHE WF b MER H B wH
sohl fonet S=m8 @ ou 1: 3 B, @ A
TS &Ahe T I TS &F%A § ITIIE w1
27

(a) 5:3
() 3:1
(¢) 4:1
d 4:3
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69. A right circular cone is sliced into a smaller |72,
cone and a frustum of a cone by a plane
perpendicular to its axis. The volume of the
smaller cone and the frustum of the cone are
in the ratio 64 : 61. Then their curved surface
areas are in the ratio
(a) 4:1
(b) 16:9
(¢) 64:61
(d 81:64

70. In a room whose floor is a square of side 10 m,
an equilateral triangular table of side 2 m is
placed. Four book-shelves of  size 73.
4m x 1m x 9m are also placed in the room.

If half of the rest of the area in the room is to

be carpeted at the rate of ¥ 100 per square
metre, what is the cost of carpeting
(approximately) ?

(a) T 17,600

(b) < 5,635

(¢ T 4,113 74,
(d < 3,200

71. A region of area A bounded by a circle C is
divided into n regions, each of area A/n, by
drawing circles of radii Iys Toy &g -2 4 such
that r; <1y < ry <..r , concentric with the

T,
circle C. If P = a0l where m = 1, 2, 3, ...
m 75.
(n — 2), then which one of the following is
correct ?
(a) pincreases as m increases
(b)  pdecreases as m increases
(¢) premains constant as m increases
(d) p increases for some values of m as m
increases and then decreases thereafter
SPSS-T-XHI (22-A)
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What is the volume of a cone of maximum
volume cut out from a cube of edge 2a such

that their bases are on the same plane ?

(@) mal
(b) %3—
(c) ZL;3—
@ 3":3

The radii of two circles are 45 cm and 35 cm
respectively. The distance between the centres
of the circles is 10 cm. What is the length of

the transverse common tangent ?

(a) 4cm
(b) 5cm
(¢) 6cm
(d 7cm

There are as many square centimetres in the
surface area of a sphere as there are cubic

centimetres in its volume. What is the radius

of the sphere ?
(a) 4cm
(b) 3ecm
(¢) 2cm
(d 1lcm

The length of a line segment AB is 2 cm. It is
divided into two parts at a point C such that
AC? = AB x CB. What is the length of CB ?

(a) 3+v5cm

®») 38-+5cm
() 543 cm
d J5-1cm
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70.

71.
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T TE-gUE WP hl, Ik AW W AGaq Th
I % gI, Th DI VP 3R WP & foas |
FET @ R | B TF A IF - oIk &
IR 64 : 61 JUd F F | A AP Th
TS St fohd STUTa | & 2

(a) 4:1

(b) 16:9

(c) 64:61

(d 81:64

forelt e H, foraert %31 10 m ¥[ST ATeN T
2, 2 m Yo a1l U wwerg B a9 @l
RIS FHTH 4mx1mx9mb HAHR H
geaeh! 1 TR remiiEr o wh i # | Afg wa
% oTh! S & % MY W H U HIciA forsmn
s ® fEeh @ T 100 wfd ot e g, @
T TTEH T qed (1) fohe B 2

(a)
(b)
(e) T 4,113

¥ 7,600
T 5,635

(d)

a0 C ¥ ufmg, A &9%d 9 TH &5 H n

T 3,200

wuel # fawifoa foram e 8, S8l 9 @ue &1 |

8TFA A/n B | @ AT ry, 1y, 1y 1y
el el ¢ & Hehgl 99 39 YR ST T &

%r1<r2<r3<...rn_1% Iqﬁpm= ;
m

T m=1,2,3,..(1-2)%, a F=falea 4 &
FIT TE R 2

(a) ™ 5G4 & ATy p off T B

(b) mEEdT 8 Al p Tl 8

(¢) m¥qal g d p 3R (fOR) war 3

(d) & m S&d & 1 3G $S AHI » ¢ p
SEdT & 31K 3G 918 g2 o @

Tm+1

72.

73.

74.

75.

(23-A)

2a HR I T Hl HRH TH UH 39 TR
T T R TR 39 YR T ad | B, @
T YR §9 Th4 ATd WP T AUhad A=A
T I ?

(a) ma

(b)
(c)

(d)

aqﬁﬁﬁwﬁm 4-5cm3ﬁ(3-5cm§ |
Il % H5l o S Hl g 10 cm 7 | ITITEY
JyfTSe TaviET it dE F1 8 2

(a)
(b)
(c) 6cm

(d)

4 cm

5cm

7 cm

o T ¥ g S § I @ A
2 s {6 3o A # w9 o< & | M
f T g ? '
(a)
(b)
(¢) 2cm

(d)

Th 1@1-@UE ABH e 2cm R | Fig e Q@
e # 39 yer fowia war 2 6
AC2-ABxCB® | a9 CB il @ieTs &1 & ?

(a) 3+v5cm
) 3-+5em
(0 5+3cm
@ J5-1cm

4 cm
3 cm

1lcm
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76. The locus of the mid-points of the radii of|80.
length 16 cm of a circle is
(a) A concentric circle of radius 8 cm
(b) A concentric circle of radius 16 cm
(¢)  The diameter of the circle
(d) A straight line passing through the
centre of the circle
77. The curved surface area of a right circular
cone is 176 m? and its base diameter is
140 cm. What is the height of the cone ?
(a) 10cm
(b) 1042 cm
(¢) 204/2cm
(d 10415 cm
L 3 81.
78. Consider the following statements :
1. The orthocentre of a triangle always lies
inside the triangle.
2.  The centroid of a triangle always lies
inside the triangle.
3. The orthocentre of a right angled
triangle lies on the triangle.
4. The centroid of a right angled triangle
lies on the triangle.
Which of the above statements are correct ?
(@) 1land2
(b) 1land4
(¢) 2and3
(d 2and4
79. The locus of a point equidistant from two
intersecting lines is 82.
(a) A straight line
(b)  Acircle
(¢) A pair of straight lines
(d) None of the above
SPSS-T-XHI (24-A)
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Consider the following statements :

Two triangles are said to be congruent, if

1. Three angles of one triangle are equal to
the corresponding three angles of the
other triangle.

2. Three sides of one triangle are equal to
the corresponding three sides of the
other triangle,

3.  Two sides and the included angle of one

; triangle are equal to the corresponding
two sides and the included ‘angle of the
other triangle. -

4, Two angles and the included side of one
triangle are equal to the corresponding
two angles and the included side of the
other triangle.

Which of the above statements are correct ?

(@) 1,2and3
(b) 1,3and4
(¢ 1,2and4
(d 2,3and4

Given that the angles of a polygon are all
equal and each angle is a right angle.

The polygon has exactly four
sides.

Statement-1 :

Statement-2 : The sum of the angles of a
polygon having n sides is

(3n — 8) right angles.

Which one of the following is correct in respect
of the above statements ?

(a) Both Statement-1 and Statement-2 are
true and Statement-2 is the correct
explanation of Statement-1

(b) Both Statement-1 and Statement-2 are

true but Statement-2 is not the correct
explanation of Statement-1

() Statement-1 is true but Statement-2 is
false

Statement-1 is false but Statement-2 is
true

(d)

If the length of a side of a square is increased
by 8 cm, its area increases by 120 square cm.
What is the length of a side of the square ?

(a) 25cm
(b) 35cm
() 45cm
(d) 55cm

Download More Papers From GovtJobsAlert.In




76.

1.

78.

79.

SPSS-T-XHI
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16cmmﬁﬁwaﬁm§ﬁﬁm3ﬁ
% ney-fogait = foguy @

(a) 8 cm B2 &1 U TH4I g

(b) 16 cm BIS2 1 U Hehegl g

(¢) 9 bl ¥

(d) 99 % Hg ¥ ToRA ITell U T W@

U -G WF P A5 T &AFA 1:76 m?

2 3R 38k STER F STE 140 cm B | 9 HI|

A PR
(a) 10cm

(b) 1042 cm
(¢ 204/2cm
@ 1015em

frafafaa Homt = fo=m Fifsm

1. U Bys &1 &9 g gEen 38 Gy %
37U A Bl @ |

2. UH DS T e wHI I BrS o 37e
& A g |

3. U Guhlv BIYS H @a hs 39 BT W
feoq gran 2 |

4. UH TuH BT *1 Fod 39 GBS W
e g 2 |

Iude | 9 HIH-H HU Fal 8 2

132

13T 4

2 3TN 3

234

(b)
(c)
(d)

g1 ufoeadt T@rsti 8§ WM gt W feua fog &
fergmar 2

(a) TH A @I

(b) T I

(c) WA @Il &l Uh JH

(d) 3IgH °H T HiE T

80.

81.

82.

(25-A)

frafafaa wuat w famm hifs

21 Frqw wafmaw 2 9 8, 99

1. U P % fi wo g Bys % @
@ I % S A | ,

2. uH By A fi qed g@w Bigw f @

W sl % S A |

3. U Brys i @ Y 3R Ik AT B0
ot e W @ gl o 3
AT IV b S A |

4. TH BYS G HOT qA S A A
Zat B % W@ 31 HI0 a1 A6 HAaa
Y % SO A |

Iued HUAl § W HH-H TEl 8 2

1,233

1,831 4

(c) 1,234

@ 2,334

fen mn 2 5 o Igus & wvl o s @

ST Uk IV Ush THHIU B | '

FHY7-1: g H I T Y 7 |

HIT-2 : ngmaﬁméag‘ga%aﬁvﬁm
INTHSA (3n — 8) THHIV BIAT 2 |

e oAt & wed §, Frefafes & @ wRa

I

(a) FYA-1 3N HYH-2 Al TE 7, 9AT HAH-2,

FeH-1 hH gE =T 7

HYA-1 N HUA-2 T TE F, Al

HUH-2, HUYF-1 I UL AT T8I B

(¢) hUH-1T8l 8, AAfehd HYH-2 TeTd 8

(d) HYF-17Terd B, Afehd HoH-2 TE B

aﬁ@ﬂﬁﬁ%ﬁﬁ'ﬂl’%Scma@?ﬁm,
A I EAFA 120 em? TG AU | I YA

<1 TS B 2

(a)
(b)

(b)

(a) 2:5cm
(b) 35em
(¢) 45cm
(d) 55cm
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What is the largest power of 10 that divides
théproduct 1% 2% 3¢4 ... % 2324 % 25?7

(a) 2

b) 4
(@)% 5
(d) None of the above

Walls (excluding their roofs and floors) of 5
identical rooms having length, breadth and
height 6 m, 4 m and 2:5 m respectively are to
be painted. Paints are available only in cans
of 1 L and one litre of paint can be used for
painting 20 square metres.
number of cans required for painting ?

(a) 10

(b) 12
() 13
(d 14

A rectangular pathway having width 45 m
and length 10 m will have to be tiled using
square tiles of side 50 cm. Each packet of such
tiles contains 20 pieces and costs ¥ 100. What
will be the total cost of tiles for the pathway ?

(a) ¥ 1,200
(b) ¥ 1,100
(¢) ¥ 1,000
(d) <900

86. A cube of maximum volume (each corner
touching the surface from inside) is cut from a
sphere. What is the ratio of the volume of the
cube to that of the sphere ?
(a) 3:4n
(b) J3:2n
(© 2:3rn
(d 4:3=n

. SPSS-T-XHI

What is the| "

87.

88.

If the ratio of the circumference of the base of
a right circular cone of radius r to its height is
3 : 1, then what is the area of the curved
surface of the cone ?

(a) 3mr?
i omr2/4n? +9
3
2 [ 2
mréyn® +1
(c) 3
2 2
4 9
(d) %

A wire is in the form of a circle of radius
98 cm. A square is formed out of the wire.
What is the length of a side of the square ?
(Use m = 22/7)

(a) 146 cm
(b) 152 cm
(¢) 154cm
(d) 156 cm

Consider the following for the next two (02)
questions : '

89.

90.

(26-A)

In a triangle ABC, a, b and c are the lengths of
the sides and p, q and r are the lengths of its
medians.

Which one of the following is correct ?

(@ 2(@E+q+r)=(a+b+c)

(b) 2(p+q+r)>3(a+b+c)
(¢ 2(p+q+1r)<3(a+b+c)
(d) 11(p+q+r)>10(a+b+c)

Which one of the following is correct ?

(a) (a+b+c)<(p+q+71)

(b) 3(a+b+c)<4(p+q+1)
(¢ 2(a+b+c)>3(p+q+r1)
(d 3(a+b+c)>4(p+q+r1)
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83. 10l TUHan HTd F4T & S UHBA 87. I Brs r % TH g W & MU A
1x2x3x4..x23x 24 x 25 P faufoma s qifY qem IEeh! ST T I 3: 18, df WP
29 % T5h Y53 h1 &A% a1 8 2
(@) 2 (a) 3mr?

(b) 4 2 2
o B ) 2nr zn +9
(d) 394 H ¥ HI TR 2 [777
nr +
84, TH I 5 B A (fad vd qw B F|  © -
BigRt) Teh werg, =g qu S=E s
6m, 4 m 3N 25 m 7, WU fobmn 91 7 | T2 @ mrtydn® +9
Faa 1 et F fesal § 3ucey B oM UF i ®
YZ T UM 20 9 HIX w TH B fREr S
m%lﬁzﬁ%mmﬁﬁﬁﬁss' @HR,QScmﬁﬁWQS%%WW%I
e R 2 39 AR | TH a1 SR T R | G h T S
w10 f g 7R ? (n = 22/7 H TANT FHif)
b) 12 (a) 146 cm
(¢) 13 (b) 152 cm
@ 14 (¢) 154 cm

85. U IFAIHR WFl fahl =g 45 m 3N e N - e
10 m 8, ¥ 50 cm YT % TIHR 5 T & | .
¥ el % v W & 20 T § ai gwel| T @ (02 WA F forg Freferem @ few
Hmd T 1007 | A7 % fow et T Fa FHery
1 gt 2 % S ABCH, a, b 3 ¢ YaT1eTl & wamgar &
(a) ¥ 1,200 3R p, q 3 r 3T AIfESERIST i =TT B |
Wi Wl g9, frfafiad & & w-an @ 2 2
(:1) z;,OOO (a) 2(p+q+r)=(a+b+c)

()rﬁégo (b) 2(p+q+r)>3(a+b+c)

86. TH arferan st 1w (e © 2(p+q+r)<3(@+b+o
?ﬁwﬁﬁfajgimr@ (d 11(p+q+r)>10(a+b+c)
ARG 90, Fiiied 7 & Frm wh 2 7
(a) 3:4nm (a) (a+b+c)<(p+q+r1)

(b)  V3:2n (b) 3(a+b+c)<4(p+q+r)

(© 2:+3n (¢) 2(@+b+c)>3(p+q+1)

(d 4:3n (d 3(a+b+c)>4(p+q+r1)
SPSS-T-XHI (27=A)
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What is the area of the largest circular disc

cut from a square of side 2 units ?
- T

(a)

7 square units

(b) 1square unit

(¢) = square units

(d)

2 square units

The product of the lengths of the diagonals of
a square is 50 square units. What is the length

of a side of the square ?

(a) 542 units

(b) 5 units

(e) 10 units

(@ 2+5 units

The surface area of a closed cylindrical box is

352 square cm. If its height is 10 cm, then

what is its diameter ? (Use = % )

(a) 4cm
(b) 8cm
() 912cm

(d) 1926 cm

94.

95.

96.

(28-A)

A square and an equilateral triangle have the
same perimeter. If the diagonal of the square
is 642 cm, then what is the area of the
triangle ?

(a) 1242 cm?

®) 1243 cm?

() 16 V2 cm?

(d) 16+/3 cm?

What is the area of the region bounded
internally by a square of side of length ‘a’ and
externally by a circle passing through the four

corners of the square ?
(@) (n—1)a?square units

(n—1)a2

(b) 5

square units

(¢) (n-—2)a?square units

(r—2) a2

(d) 5

square units

In the figure given below, XA and XB are two
tangents to a circle. If £ AXB = 50° and AC is
parallel to XB, then what is £ ACB equal to ?

'A
CK)
(>x
B

(a) 70°
(b) 65°
() 60°
(d) 55°
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Tod §3 et fTh 1 Sk w1 B 2
(a) = & gHTS
(b) 19 TS
() n2a g1
@ 2o T

Th ol o fereholl <1 SeTsAl 1 UEH 50 ot
1S B | ol o) U e ) TS R 2

(a) 523
(b) 53HTE
(€ 10%FT
@ 25 38

T §¢ SRR T H1 S SEha 352 @
FeT B | afe 3ol F=1E 10 cm R, A 3T
armw%?(m?mmq)

(a) 4cm
(b) 8em
(¢) 912cm

(d) 1926 cm

94,

95.

(29-A)

T T I Th e Byw w1 afem s
2| AR i Rl 68 om B, @ By W
Eh T 8 2

(a) 122 cm?
() 12+/3 cm?
() 162 cm?

(d 1643 cm?

3G &7 &1 ATBA F R N I A AGATS ‘@’
o 9T o & it B o WTE & 39 ot F
TR BT ¥ TR AT g @ g R 2

@ (r—1) a2 a1 3

(b) (n—21)a2 aﬁm

@© (n—2) a2l 5

(Tt—22)82 it s

(d)

96. = for Mg fom #, XA 3 XB @ @ K @

Ty § | Ife £ AXB = 50° 3R AC, XB %
THTR B, A1 £ ACB forss suex 8 2

‘ A
CcK)
(>X
- ‘

(a) 70°
(b) 65°
() 60°
(d) 55°
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'97. In the figure given below, p, q, r are parallel | 99.
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lines; [ and m are two transversals.

l m

>
w)

> P

0
/

Consider the following :

In the figure given below, SPT is a tangent to
the circle at P and O is the centre of the circle.
If £ QPT = a, then what is £ POQ equal to ?

w A
e

=R

(a) a
1. AB: AC =DE : DF
2. ABXEF=BCxDE (b) 2a
Which of the above is/are correct ?
() 90°—a
(a) 1lonly
(b) 2only (d) 180°—-2a
(¢c) Both1land?2
(d) Neither 1 nor 2
98. In the equilateral triangle ABC given below, 100. In the figure given below, two equal chords cut
AD = DB and AE = EC. If  is the length of a at point P. If AB = CD = 10 cm, OC = 13 cm
side of the triangle, then what is the area of (O is the centre of the circle) and PB = 3 cm,
the shaded region ? then what is the length of OP ?
A
D E
A
\‘/ C
B C D B
3V3 12
(a)
16 (a) 5cm
31
(b) 16 (b) 6cm
343 12
(©) (© 2v29cm
32
312
(d) ‘3—2 (d) 2 \/3_7 cm
SPSS-T-XHI (30-A)
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ﬂ%ﬁqrmﬁﬁﬁ, p,q,rm}@ﬁél

.1 IR m T frEiwad @ € |

l m

B E

\ i
F > T

< >

Frafates w famm Hifse .
1. AB:AC=DE:DF

2. AB x EF = BC x DE
I # A wH-E/E wE B/E
(a) had 1

(b) HaA 2

(¢) 13K 22Hi

(@ A@ LTS

H= fou v wweTg s ABC #, AD = DB @it
AE = EC 2 | 3¢ fiyst it wsh 3= Y &S ¢

?, 1 SHfehd & 1 &% #4918 ?
A

B ¥
343 12
16
il
16
33 12
32
3P
32

(a)

(b)

(c)

(d)

99.

100.

(31-A)

fr= fou o fo= #, SPT, P g9 it wosiian @
I OFA H %5 8 | G LQPT = o B, d
£ POQ forass st=R 8 2

mA
=1

(a)  «

(b) 2a

(e) 90°-a

(d) 180°-2a

dra fow o fom |, § s Sferd fag P w
et 8 | I AB = CD = 10 em, OC = 13 e¢m
(39 ®1 %% forg 0 2) 3 PB =3 cem B, @
OP ! &=TE &7 2 ?

AC

= 2=

D B

5 cm

(a)

6 cm

2@cm
2J3_70m

(b)

(c)

(d)
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SPACE FOR ROUGH WORK
e M & fore STE

(32-A)
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SPACE FOR ROUGH WORK
w & & foo s
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SPACE FOR ROUGH WORK
H=l T & foTu snrE

SPSS-T-XHI (34-A)
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SPACE FOR ROUGH WORK
H T & foru s g
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T T HATTH! T TN GIEaahT @iei &t 7 HET AT 77 7% T Tie?

A. . . : SPSS-T-XHI ' uiteror gfeaent sigwa

T18TuT gieaeht
YR T

A : 31 gUe gorias : 100

SIRC S

g
e I g1 6 e, T 38 Tteror gierent i ugare stava F o fob sed wrg fam ww,
mzrmq:aganqcam;wm anfe T g Ivﬁﬁm%,?ﬁsﬁvﬁuﬁwgﬁwﬁm'&ﬁﬁm
Fuar &4 @ % OMR sw-ues #H, 3fud o w, ﬁawaﬁtwﬁmg%war—gﬂ
W®IE) A, B, C 1 D &, &4 ¥ wd fomn forelt o mﬁwrﬁrémﬁaﬁ!mwﬁ
IuigarR 1 § | ﬁwﬁvﬁmaﬁrw/ﬁawﬁf ﬁf@rﬁfﬁmmmwﬁmml
39 gl gitaes W Ay & fou T Hes #§ Sl 31e
R uTe for@ T } | gl gfae | ot g T ford |
38 whgw gfees § 100 SeA () g # | v v feedt ofv oisft ANl oW R 1w
T # ¥R T (SW) fGu e | 3 A U TSI B GH o, T o e WSt S
=TEd & | A Mot vEn o R w @ i W we R, a‘rwmaﬁwﬁmaﬁaﬁmm
N | TAF T F R Faer o F TG I @ |
YT 3 Tt T 3o A Rw e g W F 3ifehd T € | S | fou mu fdw Sfaw |
Y I b 3k GHH B |
wﬁ%ﬁ%wwﬁmg@m%ﬁﬁawﬁ%mwmmmm{@a& 3TIhT Yot
UL % A YT e % SHER $ faaw s # 3 B |
mmﬁmﬁgﬁﬁwmﬁnﬁ%mwﬁm%wm FaeT IT-TAF AfEH H
g 2 | gt a1 qhiEuT gieen of S <t 3TAETd R |
F= HW F oI T e gieeT & 37d § T § |
T I o foru que
TS Ty-gal # Iufiear g A e et s o forg que feen s |
() ¥OF T % T IR Ius I & | IFficaR g ud% g % foe Ry T s e I % o A
?q e fopu o 3t o1 wh-foeTE gve & w9 # e smom |
(i) af 1 Ioficar o § s I T B, A W e IW A S, Fui oy v Il # ¥ U W
T a1 B, T ot 3| wvH & o swigEn € st @t @1 gve femn smam |
(iii) IR IficaR gR1 #E T &G T8I hAT I 2, Aol IFHieaR grr IR AT oI S R, @ 39 e &
fore =1é gue 7 fean wmam |

T 7% ATIH! Tg GO GieaanT @iera &t T FT T 77 7 T TIet

Note : English version of the instructions is printed on the front cover of this Booklet.
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